HliEHZN= 10
Basic Mathematics for Control Engineers

W 7z A

Inverse z transform




5510[0] 1 z 2

10.1 ¥ z ZEHHIODOTER

~ 1 7 ZHL N

x(k) = Z7X(2)] = % X(2)z"¥ 1dz

pIFERERLEL, HErOMEREEED(CES
BEES ZERT 3.




5510[0] 13 z i

10.2 BB DEER (C KD z ZiR

3 —-1.25z71
X(z) = = =
(1-0.5z"1)(1 —-0.25z71)
| l : 3z% — 1.25z z(3z — 1.25)
X(z) =

(z—05)(z - 025) (z—0.5)(z— 0.25)

b X(2) 3z—1.25 a B

Z (Z—05)(z—025) 7z-05 z-025

a=(z— 0.5)@ =1
z=0.5
ﬁ=(z—0.25)@ =2
z=0.25

b z 27 1 2
X(2) = +

05 177-025 1-0521171-025.1

b x(k) = Z71[X(2)] = (0.5% + 2 - 0.25%)u, (k)



5510[0] 1 z 2

10.2 BB DEER (C KD z ZiR

Z—Z

(1-0.5z7)A —z71)?

Z
b XD = o502

X(z) 1 a b1 B2
b (z—OS)(z—l)2 —0.5+(Z—1)2+Z—1

X(z) =

Z z
a=4
Bi=(z- 1)2X(Z) =2
z=1
B X(z) o d 1 3
P2 __(Z_ D’ _Ez—O.SZ=1 —4

7=

b 47 2z 4z
X(z) = + —

z—05 (z—-1)2 2z-1

b x(k) = Z7X(2)] = (4 0.5% + 2k — 4)u (k)




5510[0] 1 z 2

10.3 ¥ z ZHDEE

~ Rz IE ~N

—DOHEERIFEUES x(k), y(k)D z %
TNENX(2),Y(2) £EFTBEF,

Zlax(k) + by(k)] = aX(z) + bY(2)
MEEDIID. 212U, a, b (XTEZLTHD.




5510[0] 1 z 2

10.3 ¥ z ZHDEE

r BelsmitER (BRFfEhEN) ~N
Zlx(k—m)] =z7"X(2)
\ J
y(k) l y(k) .
oo lllVe ool llVe
01234 ¢ 012345 g
X(2) = Z[x(k)] Y(z) =Z[x(k—1)] = z71X(2)

Zlx(k — 1] =z"1X(2)



5510[0] 13 z i

10.3 ¥ z ZHDEE

[ﬁﬁ%ﬁﬁ(ﬁﬁﬁa)

Zlx(k +m)] = z™X(z) — z™x(0) — z™ 1x(1) — - —zx(m — 1) ]

y(k) = x(k + Dus (k)

co

Y(z) =Z[x(k + 1] = z x(k+ 1z %=z

k=0
= zX(z) — zx(0)

y(k) l

®

®
@

e 6 o O
A A A

01 234

X(z) = Z[x(k)]

(x(O) + 2 x(k + 1)z~ k+D — x(O))

k=0

y(k) L

@
®

e 6 6 O
o Y

u—;0123k

Y(z) = Z[x(k + 1)]
= zX(z) — zx(0)



5510[0] 1 z 2

10.3 &z EHOHE

-~ [RRENEhHETS N
Z|ed@okx (k)| = X(e/@oz)
\. J
- BsfElEh &R N
1
J
 z SRIRICH T DD A
dX(z)
Zlkx(k)] = —2z
dz




5510[0] 1 z 2

10.3 &z EHOHE

r BRI RIS S DIZTT F7iA 7 D
Z|x(k) * y(k)] = X(2)Y (2)

* (FIRNDIZTZdnAHHZKRT .

0.0)

x(k) +y() = ) xWylk =)

[=—o00




5510[0] 1 z 2

10.3 &z EHOHE

~ YIRMEDEE <
x(0) = lim X(2)
Z—00
~ ExAS{EDEE A

x(00) = Ill_)tglo x(k) = ii_r)r}(l -z HX(2)




5510[0] 1 z 2

10.3 &z EHOHE

~ M) z - ~N
y(k) = ) x()
=0
RGO )
(‘%@ng ~

y(k) = x(k) —x(k — 1)

Y2)=X(2)—z"1X(2) =1 -z"H)X(2)




5510[0] 13 z i

10.4

z B W EDHIETNOERE

x(k+2)—08x(k+1)+0.15x(k) =1,

W 2X(2) - 22 - 2) — 08(zX(2) — 2) + 0.15X(2) = ——

2 _0.82+08
b (22 — 082 + 015)X(2) = 2 - _Zl )

b X(2) z>—0.8z+0.8

z (z—1)(z-0.5)(z - 0.3)
X(z) « B 14

b z _Z—1+Z—0.5+Z—0.3

20 13 65
“=7 B=-5 V=17

20 1 13 1 65

X(z) = — _ 2 22
b == 7" 27 05 1a7-03

b (k)—zo 5 0.5% + 220 3%
A =T Ty O T g™

k>0

x(0)=x(1)=1

Z
z—1



